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(1) (AFe) 27)= 4, (AFR) = 10

@) (AFe] 271)= 6, (AFa)= 13

() (AFe] 271)= 4, (AFED)= 30

@) (AFe 271)= 3, (AFED= 41
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(1)10—§§x<10+§°ﬂ*‘]83x<12
La=8,b=12
6 6
(2) 13—§§x<13+§°ﬂ/\1 10Sx<16
na=10,b=16
4 4
(3)30—§Sx<30+5°1]"] 28 < x < 32
La=28b=232
3 3
(4)41—53x<41+§°ﬂ*1 39.5<x<425
s a=395b=425
5 5
(5)52—§gx<52+§°ﬂﬁ 49.6 < x < 52.5
a=495,b=D525




5. old E4BIuol AFe I7|7} 10kg € ©f, AlEEko] 20kg ¢ HF
x o] ¥$1E Fatoi=t

1 1
20—30Sx<20+?0

15<x<25




6. o= wF 3ty 12 P Ht7]7F 170cm o1, o3HY 13 F ] 717}
160cm ©fet. o] §F 7] 3H4y 25 o] Hat 718 243 A A7
otoiet,
> E cm

[> ®g. 164.8cm

12 x 170 4 13 x 160

7% = 164.8(cm) ©|t}.
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ot 1828 FolHo]ZE /CDE = 50° 7} 54 F-& AHolt}. /ECB
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A C B

@® 55° 2)65° ® 75° @ 85°

® 95°

(ECB = /CED = /ECD ,
(ECD = (180° - 50°) + 2 = 65°




@® 40° @ 50° ® 55° @ 60° (®)65°

50° 4+ 2x = 180°
. /x = 65°




